GRADIENT OF A LINE
Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

1.

12 The graph gives information about the velume, v litres, of patrol m the tank of Tim’s car
after it has ravelled a distance of 4 kilometres.

F 3
30
20
Volume
{v hitres)
10
] 5
Q 50 100 150 200 250 300

Distance (o kilometres)

(a) Find the gradient of the graph.

(b} Interpret what the gradient of the graph represents.

(Total for Question 12 is 3 marks)
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2.



6 A is the point with coordinates (5, 9)
B is the point with coordinates (4. 15)

The gradient of the line 48 is 3

Work out the value of d.

(Total for Question 6 is 3 marks)

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
3.



12 The graph shows the volume of liquid (L litres) in a container at time ¢ seconds.
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(a) Find the gradient of the graph.

(b} Explain what this gradient represents.

(1
The graph intersects the volume axis at L =4

(¢} Explain what this intercept represents.

(1)

(Total for (Juestion 12 is 4 marks)
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4,



6 The equation of the line L, 5 y=3r-2
The equation of the line L is v -9xr+3=0

Show that these two lines are parallel.

{Total for Question & is 2 marks)
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5.



18 )
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ABCD is a rhombus.
The coordinates of 4 are (5, 11)
The equation of the dizgenal D8 is 1= EI + 6

Find an equation of the diagomal AC.

(Total fior Question 18 is 4 marks)

Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier

6.



33 L is the circle with equation x° + 3" =4

g

Find an equation of the tangent to L at the point P.
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] isa point on L.

{Total for Question 23 i 3 marks)
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10 The graph shows the depih, o cm, of water in a tank afier 1 seconds.

-
240
™
150 —
Drepth
ideml 9
i)
L1
I:I 11
0 m a0 60 &0 LD 120 140

Tirne i1 seconds)

{a) Find the gradient of this graph.

()
(b} Explain what this gradient represents,

(BB

(Total for Question 10 is 3 marks)
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8.



T Here are the equations of four straight lines.
Ling A y=2x+4
Line B p=x+4
Line € 2r+2v=4
Ling [2 r—yp=4d

Pwo of these lines are parallel.

Write down the rwo parallel linesT

Lineg and line
{Total for Question 7 is 1 mark)
Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier
9.

=24 4 is the point with coordinates (1, 3)
B is the peint with coordinates (4, —1)
The swaight line L goes doough both 4 and 5.

Is the line with equaton 2y = 3x — 4 perpendicalar to line L7
You must show bow you got your ansmear

(Total for Question 24 is 4 marks)



Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

10.

f2%5 A and B are straight lines.
Line A has equation 2y =3x + 8
Line B goes through the points (—1, 2) and (2, &)

Do lines A and B intersect?
You must show all your working.

(Total for Coestion 25 is 3 marks)

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier

11.



w« B(T.5)

Diagram NOT
accurately drawn
Ai-1,2) *®

o x

A iz the point (-1, 2)
B is the point {7, 5)

{a) Find the coordimates of the midpoint of AB.

P is the point (—4, 4)
{ is the point (1, —5)

{b) Find the gradient of P,

{Total for Questbon 13 is 4 marks)
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12.



This graph shows part of a straight line.
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(a) Show that the gradient of the line is 2.5

(b} Write down the equation of the line.

@

{b)



OCR GSCE — Sample Papers — Paper 5 (Non - Calculator) Higher Tier

13.

14 Show that line 3y = 4x — 14 is perpendicular to line 4y = “3x + 48.

OCR GSCE — Sample Papers — Paper 6 (Calculator) Higher Tier
14.
14 A straight line goes through the points (p, q) and (r, 5), where

= p+2=r
= g+4=s

Find the gradient of the line.

4]

K
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15.

12 Work out the gradient of the straight line through (-2, 3) and (1, 9)
[2 marks]

Answer
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16.

28 Line A has equation y=4x—1
Line B is
perpendicular to line A
and
passes through the point (8, 5)

Work out the coordinates of the point where line B intersects the x-axis.
[4 marks]
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17.

25 F (4, 8) is a point on a circle, centre (.
The tangent at P intersects the axes at points A and B.

Vi Mot drawn
’ accurately
\ B
P4, 8
i} A P

25 (a)  Show that the gradient of the tangent is -%
[2 marks]




25 (b)  Work out the length AB.
Give your answer in the form a5 where ais an integer.

You must show your working.
[4 marks]

Answer units
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18.

28 Here is a sketch of a quadratic curve.

The turning point is (3, —-2)

Mot drawn
accurately
Wk
0 x
(3,-2)
Circle the correct statement about the gradient of the curve for x < 3
[1 mark]

gradient is positive gradient is negative

gradient is zero gradient could be any value
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19.

12 A straight line is drawn on the centimetre grid.

Fay assumes that the scale is 1 cm represents 1 unit.

12 (a)  Use her assumption to work out the gradient of the line.
[1 mark]

Answer




12 (b) In fact, the scale is 1 cm represents 2 units.

Which statement is comect?
Tick one box.

The answer to part (a) is too big

The answer to part (a) stays the same

The answer to part (a) is too small
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20.

[1 mark]



8 (a)

8 (b)

Show thatthe lines y=3x+7 and 2y—-6x=8 are parallel.

Do not use a graphical method.

[3 marks]

Is the point (-5, —6) above, below or on the line y=3x+7 7

Tick one box.

Above

You must show your working.

Do not use a graphical method.

Below

On the line

[2 marks]
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21.

17 A is the point (2, =5)
B iz the point (4, =9)

17 (a) Show that the gradient of the straight line passing through A and B is <2

[2 marks]
17 (b)  Cis the point (=301, 601)
Does C lie on the straight line passing through A and B?
You must show your working.
[2 marks]

Answer




